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: 10831H

BETS5H B (cells/L)
SEHh s K KigE Bn Alexandrium Dinophysis wE
(°C) Pp- D. fortii D. acuminata F DD Dinophysis
Om 16.9 33.2
f 0 0 0 0
el 5m 17.3 336
Om 172 330
QAR 5m 17.2 335 0 0 0 0
10m 170 335
_ Om 16.1 33.3
k) 0 0 0 0
O=v# 5m 16.3 334
Om 17.4 33.7
@EFiE 5m 17.3 33.7 0 0 0 10 D. tripos
10m 174 338
OER 10m - - 0 0 0 10 D. rudgei
®XiR 10m - - 0 0 0 0
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Alexandrium spp. (cells/L)

;AER
DRE_|oBAR[O-VR|OEAB[OHE [OAR
7A26H - B - B 0
sA1H B 0 0 0 . 0
828 - - - - 0 -
8H8H - 0 0 0 - 0
8H9H - - - - 0 -
8H15H - 10 0 0 - -
8H22H - 0 0 0 0 0
8H29H - 10 0 0 - -
9A58 10 20 0 0 - 10
98128 20 20 0 0 0 -
9H21H 0 0 0 0 - -
9H26H 0 10 0 0 0] 0
10A3H 0 0 0 0 0 30
108128 10 0 0 0 0 -
108178 0 10 0 0 0 0
10H248 0 0 0 0 0 0
10H31H 0 0 0 0 0 0
- D. fortii (cells/L)
O&ET  (QBAB|QZVIR|DEHIK|OEE |OKR
7268 - - - - - 20
8H1H - 0 0 0 - 10
8H2H - - - - 0 -
8H8H - 0 0 0 - 0
8H98 - - - - 10 -
8H15H - 0 0 0 - -
8H22H - 0 0 0 0 10
8H29H - 0 0 0 - -
9A5H8 0 0 0 0 - 0
9A128 0 0 0 0 0 -
9H21H 0 0 0 0 - -
9H26H 0 0 0 0 0 0
10A3H 0 0 0 0 0 0
10A128 0 0 0 0 0 -
10H178 0 0 0 0 0 0
108248 0 0 0 0 0 0
10831H 0 0 0 0 0 0
- D. acuminata (cells/L)
O%ET  |(QBAB|QZVIR|DEHIZ|®EE |OKR
7826H - - - - - 10
8H1H - 1,540 30 0 - 0
828 - - - - 0 -
8H8H [ 710l 60 10 - 0
8H9H - - - - 0 -
8H158 - 1,900 0 0 - -
86220 -1 2340 0 0 0 0
85298 | 690 0 0 - -
9H5H8 4,430 210 0 10 - 10
9H12H 2,640 240 0 30 10
98218 120 150 0 20 - -
9A26H 1,100 180 20 10 10 0
10H38 1,170 30 10 0 0 0
108128 1,870 30 0 0 0 -
108178 230 0 0 10 0 0
10H248 50 0 0 0 0 0
108318 0 0 0 0 0 0

Alexandrium spp.
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D. acuminata
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